MA LINE

cmatic B

PNEUMATIC FITTINGS PUSh'|nF|tt|ngS

MAZRFthiEEL #HEAME  EATFEMILRA. RE , K% The push-in Fitting of the MA line are completely made of brass and they are suitable
2 R TR, ' ’ ’ " for quick connections in different industrial applications; they are robust, compact

FIEMARSIE G | B2 BRiEaRmaE, and guarantee high performances in time.
’ All MA Fitting are electrolytic nickel-plated.

11



m______

KSR R B2 $23 RIPH BHE
Body and Release Ring Holding Ring anpmg Collet Protection Ring Seals
R EUNI EN 12164 CW6E14N - UNI EN 12165 CWB17N  FEEEHTAE (POM ) AISI 301454 TR (POM) NBR
Brass UNI EN 12164 CW614N - UNI EN 12165 CW617N Nickel Plated Acetal Resin (POM)  Stainless steel AlISI 301 Acetal Resin (POM) NBR

i s WELREA P
U /AR

-20°C - 80°C &KX -99 KPa
20 bar

M3x0.5 Mb5x0.8  Méx] M7x1 M12x1.25 M12x15  G1/8 G1/4 G3/8 G1/2 G3/4  R1/8 R1/4 R3/8 R1/2
3 ° °
4 ° ° ° °
6 ° ° ° ° ° ° °
‘ % 8 ° ° ° ° °
e 10 ° ° ° ° °
12 ° ° °
14 ° ° °
16 ° o
FEARME DATA SHEET
BIMEZEER . Recommended tubings:
PA11, PA12, PA6., PERZ%. PURSEHES (98 Shore A) PA11, PA12, PAB, Polyethylene PE, Polyurethane PU (98 Shore A).
AESHERNE Acceptable Tolerances on the tubings:
+/-0.07 mm , {RARERE 10 mm +/—0,07mm up to @ 10 mm
+/-0.1mm , EEM12E] 16 mm, +/—0,1 mm from @ 12 up to @ 16 mm.
NASE : Application fields:
SHRE. Pneumatic circuits.

12



ERIAEANRE Tubing insertion depth

L ERDe L
3 9.8
4 13.2
6 16.1
8 16.2
10 18.3
12 19.5
14 225
16 225

2 5 15 B ASSEMBLY INSTRUCTIONS

1AEREEYE (ERATCUTERLD), BIARASEESEER |, BeEE# 1. Cutthe tube square (by means of a hose cutter i.e. our TCUT) making sure that no burrs are
SERBEHEMEAR. CATEEREEN , EEBITHARE (TINC ) € left and that the tube is not oval.

BEFFE, ARERIEEZRERER , MRIEATEMNER, In case of use with metal hoses, make a groove all around the tube diameter with a suitable
2 ER\AREL  BEAL, tool (TINC).The groove must be made according to the tube diameter so that the Fitting col-

lect can better grip onto it.
2. Insert the tube into the Fitting until it bottoms.

KEHERK: Tube release
EERERB , AR EERET, While pressing on the release Ring, pull out the tube from the Fitting.

SERERES , BERAER ETFESND ; A FHAERIEENE Once the tubing is connected to the Fitting, make sure that the tubing is not subject to

& NEHERFEREMEIBTZHE. & any tensile strength and that the min. recommended bending radius stated in the tubing
section of this catalogue is complied with (see page 335).

RTBRERSIANE , EANESTEZMBRER, ERERBER To prevent any accidental tube release, no components have to come in touch with the
EE@AGL , SEME D , HTESHEEENLE. release Ring and exercise any unwanted pressure on the same. Indeed however lateral, any load on
BEITERN | BSEEATIIHNBIGRE, the release Ring may cause the tube disconnection.

To tighten threads, please check out our tightening torque chart illustrated at page 6.

13



HIRGEEEL Taper Straight, male
Bl EEQDe D1 D2 L1 L2 CH g &0
D2 110418 4 R1/8 9 75 16 10 5.5
e 110414 4 R1/4 9 11 205 14 16.1
ﬁ 110618 6 R1/8 12 75 21 12 8.7
L 1106 14 6 R1/4 12 1 20.5 14 14
TTT 110818 8 R1/8 14 75 25 14 13.2
o 110814 8 R1/4 14 11 235 14 13.9
- 110838 8 R3/8 14 15 225 17 23.6
111014 10 R1/4 16 11 30.5 16 20.2
111038 10 R3/8 16 15 24 17 20.6
D1 PTFE 111012 10 R1/2 16 14 27 22 475
3 11214 12 R1/4 19 11 32 19 24
111238 12 R3/8 19 15 275 19 24.1
11212 12 R1/2 19 14 275 22 42.3
111438 14 R3/8 22 115 355 22 40.1
11412 14 R1/2 22 14 325 22 39.5
BEIRGEEEL Parallel Straight, male
o gl ERDe D1 D2 D3 L1 L2 CH1 CH2 g &b
Eejr 1203 M3 3 M3x05 7 55 3 145 - 15 14
| 1203 M5 3 M5x08 7 8 4 15 - 2 2.3
== 1204 M5 4 M5x08 9 8 4 19 5 2.5 46
- | 1204 M6 4 M6x1 9 9 45 195 - 3 43
- 1204 M7 4 M7x1 9 9 5 20 = 3 5
:}ﬁ CH2 12 06 M5 6 M5x0.8 12 8 4 22 - 25 8.6
(TR 1206 M6 6 M6x1 12 9 45 25 - 3 8.9
ot 1206 M7 6 M7x1 12 9 5 23 - 3 9.5
D3 120418 4 G1/8 9 13 5 165 9 3 6
120414 4 G1/4 9 16 6.5 185 9 3 12
0 1206 M12x1.25 6 M12x1.25 12 15 6.5 21 12 4 1.8
1206 M12x15 6 Mi2x15 12 15 6.5 21 12 4 12.9
F%ﬁ 120618 6 G1/8 12 135 5 195 12 4 9
=z 120614 6 G1/4 12 16 6.5 195 12 4 12.7
120818 8 G1/8 14 13 5 235 13 6 1.5
5 TTT 120814 8 G1/4 14 16 65 215 14 6 13.5
120838 8 G3/8 14 20 7 21 14 6 20.1
5 ﬁ CH2 120812 8 G1/2 14 25 85 23 14 6 34.3
121014 10 G1/4 16 16 6.5 275 15 8 17.4
o 121038 10 G3/8 16 20 7 25 16 8 22.6
121012 10 G1/2 16 25 8.5 255 16 8 345
D8 121214 12 G1/4 19 16 65 285 19 8 26.2
121238 12 G3/8 19 20 7 285 19 10 29
121212 12 G1/2 19 25 8.5 265 19 10 36.1
121438 14 G3/8 22 20 7 32 22 10 375
121412 14 G1/2 22 25 8.5 32 22 12 42.4
121612 16 612 24 25 8.5 345 25 13 53.6
1216 34 16 G3/4 24 32 9.5 32 24 13 68.2
IR E Bk Female Straight
D2 E3it] ERDe D1 D2 D3 L1 L2 CH g &
o 130418 4 G189 13 75 235 9 10
130618 6 G1/8 12 14 75 26 12 15.1
CH 130614 6 G1/4 12 16 11 30 12 18.5
130818 8 G1/8 14 13 75 26 14 17.5
= W ‘l 1308 14 8 G1/4 14 16 11 30 14 20.2
1308 38 8 G3/8 14 20 12 31 14 25.9
S 131014 10 G1/4 16 16 11 32 16 24.4
_ 131038 10 G3/8 16 20 12 335 16 30.3
o 131012 10 G1/2 16 25 135 365 16 45
—— 131238 12 G3/8 19 20 12 34 20 40.6
03 131212 12 G1/2 19 25 135 37 19 55.7

14



HINELETEEL Taper Elbow Fitting, male
B EfEQe D1 D2 L1 L2 L3 CH g 62
- = 140418 4 R1/8 9 75 15 175 9 8.1
ﬂ@— o) - 140414 4 RI/A 9 11 185 175 9 139
- §1 a8 140618 6 RIS 12 75 15 205 10 132
L-ﬁ_ H— 1406 14 6 RI/A 12 1 185 205 10 167
5 140818 8 RIS 14 75 19 25 12 1956
= 1408 14 8 RI/A 14 11 21 25 12 226
141014 10 RI/A 16 1 2 2 14 271
o ; P}FEE 141038 10 R3/8 16 115 225 25 14 32.1
A EEMIEEEEL Taper Swivelling Elbow Fitting, male
B EfEJe D1 D2 D3 L1 L2 L3 CH g 62
150418 4 R1/8 9 145 75 175 175 10 108
13 150414 4 R1/4 9 155 11 2% 195 14 209
150618 6 R1/8 12 U5 75 20 2 13 194
_IH 1506 14 6 R1/4 12 155 11 2% 2 14 23.1
— éﬂ 8 150818 8 R1/8 14 15 75 20 25 13 228
LN 1508 14 8 R1/4 14 155 11 2 25 14 264
o 1508 38 8 R3/8 14 20 15 2 23 18 392
151014 10 R1/4 16 20 11 65 2% 18 386
= 151038 10 R3/8 16 20 15 27 2 18 01
151238 12 R3/8 19 225 115 305 285 20 61.8
EIDTEL 151212 12 R1/2 19 245 14 35 285 22 75
- 3 J),r.fb‘f 151438 1 R3/8 2 25 15 305 32 2 66.2
0 : . A A
151412 14 R1/2 2 245 14 35 R 2 746
AEEEMEISEEEL Parallel Swivelling Elbow Fitting, male
g E#EQDe D1 D2 D3 L1 L2 L3 CH RRAY
1603 M5 3 M5x08 7 10 4 14 135 9 71
1604 M5 4 M5x08 9 10 4 14 175 9 838
1604 M6 4 Méx1 9 10 45 145 175 9 87
160418 4 G1/8 9 U5 5 18 195 13 157
L3 160414 4 G1/4 9 16 6.5 215 195 13 19
16 06 M5 6 M5x08 12 10 4 14 05 9 119
16 06 M6 6 Méx1 12 10 45 145 205 9 12
o — ?i g 1606 MI2x1.25 6 M12x1.25 12 15 6.5 715 2 13 222
1606 MIK15 6 M12x15 12 15 65 N5 2 13 221
3 160618 6 61/8 12 145 5 18 2 13 185
R 1606 14 6 G1/4 12 16 65 715 2 13 218
- 160818 8 61/8 14 U5 5 18 25 13 2
160814 8 G1/4 14 16 65 715 25 13 25.3
2 1608 38 8 G3/8 14 20 7 %5 2B 16 377
D3 160812 8 61/2 14 2% 85 275 23 16 I
161014 10 G1/4 16 16 6.5 2 2 16 34
1610 38 10 G3/8 16 20 7 255 26 16 395
161012 10 6172 16 25 85 275 2% 16 432
161214 12 G1/4 19 16 6.5 255 285 20 58.5
1612 38 12 G3/8 19 20 7 26 285 20 57
161212 12 61/2 19 2% 85 305 285 20 85.1
161438 14 G3/8 2 20 7 2 31 20 616
161412 14 G1/2 22 25 8.5 305 31 20 69.9
161612 16 61/2 2 25 85 3 365 25 105.2
161634 16 63/4 2 32 95 35 365 2% 1138

15



AA[ IR E AL Swivelling Elbow Fitting, female
13 RE e D1 D2 D3 L1 L2 Ls CH RRAY
170418 4 G1/8 9 145 75 175 195 13 173
7 I T J . 170618 6 G1/8 12 145 75 175 2 13 197
-8 ° 170614 6 G1/4 12 18 11 215 2 16 254
‘ 170818 8 G1/8 14 145 75 175 25 13 23.1
- 170814 8 G1/4 14 18 11 215 25 16 29.1
B b 171014 10 G1/4 16 18 " 23 26 16 35.6
— 171038 10 G3/8 16 25 12 25 26 20 435
D1
D3
sl Swivelling Fitting with Banjo Ring
Bl ERTe D1 D2 D3 L1 L2 L3 L4 CH g 62
CH L3 1803 M3 3 M3x05 7 8 3 85 13 14 2 46
18 03 M5 3 M5x0.8 7 8 4 95 15 15 2 8.1
18 04 M5 4 M5x0.8 9 10 4 11 185 19 3 10.1
I . 180418 4 G1/8 9 14 5 15 205 255 4 222
5 ‘ - s e 18 06 M5 6 M5x0.8 12 10 4 11 215 19 3 133
N | i 180618 6 G1/8 12 14 5 15 25 255 4 244
- 180614 6 G1/4 12 18 6.5 175 24 29 5 393
5? 180818 8 G1/8 14 14 5 15 285 255 4 257
! 180814 8 G1/4 14 18 6.5 175 245 29 5 39.1
D1 181014 10 G1/4 16 18 6.5 175 27 29 5 436
03 181038 10 G3/8 16 2 7 195 29 25 6 622
181238 12 G3/8 19 2 7 195 295 325 6 67.1
181212 12 G172 19 2 85 24 315 395 8 114.8
AEEMNEREEMIAE L Swivelling Extended Elbow Fitting, male, parallel
13 E3idl EECe D1 D2 D3 L1 L2 L3 CH g &2
— 190418 4 G1/8 9 145 5 29 195 13 256
é 8 190618 6 G1/8 12 145 5 32 2 13 305
’E‘ I 1906 14 6 G1/4 12 18 6.5 355 22 13 309
190818 8 G1/8 14 145 5 34 25 13 357
o 1908 14 8 G1/4 14 18 6.5 375 225 13 36
.7
ai=
D1
D3
A4 IRSUE TR = @ iEk Swivelling Tee Fitting, taper
13 B ERQe D1 D2 D3 L1 L2 L3 CH g &2
200418 4 R1/8 9 145 75 20 39 13 215
I Jd 2004 14 4 R1/4 9 155 11 24 39 14 256
I -8 ° 2006 18 6 R1/8 12 145 75 20 44 13 26.3
A 200614 6 R1/4 12 155 1 24 44 14 304
o 200818 8 R1/8 14 145 75 20 45 13 311
- N 2008 14 8 R1/4 14 155 11 24 45 14 353
200838 8 R3/8 14 20 15 27 46 18 49.1
2010 14 10 R1/4 16 20 1 265 49 18 50
o1 Y y 201038 10 R3/8 16 20 15 27 49 18 5156
03 E 1P L 201238 12 R3/8 19 25 15 305 57 20 80
: ; 201212 12 R1/2 19 24.5 14 335 57 22 835

16



A ERSETR =@k

T

Swivelling Tee Fitting, parallel

7

AEEHIRNETRE =X

L4

TARERNETRE =B

L4

L2

13 Bl ERTe D1 D2 D3 L1 L2 L3 CH g 60
210418 4 G1/8 9 145 5 18 39 13 202
L 210414 4 G1/4 9 16 6.5 215 39 13 239
I 74 S 210618 6 G1/8 12 145 5 18 44 13 252
Q 210614 6 G1/4 12 16 6.5 215 44 13 29.1
o 210818 8 G1/8 14 145 5 18 45 13 307
B 210814 8 G1/4 14 16 6.5 215 45 13 336
210838 8 G3/8 14 20 7 255 46 16 46.4
o 211014 10 G1/4 16 16 6.5 22 49 16 44.4
211038 10 G3/8 16 20 7 255 49 16 497
D3 211238 12 G3/8 19 20 7 26 57 20 753
211212 12 G1/2 19 25 85 305 57 20 82
Swivelling Fitting with Double Banjo Ring
13 E¥iil ERDe D1 D2 D3 L1 L2 L3 L4 CH g Ay
CH 22 04 M5 4 M5x08 9 10 4 1 37 19 3 138
220418 4 G1/8 9 14 5 15 41 %5 4 274
. 22 06 M5 6 M5x08 12 10 4 11 43 19 3 199
g e 31 o 220618 6 G1/8 12 14 5 15 45 255 4 32.1
/ | \_ || . 220614 6 G1/4 12 18 6.5 175 48 29 5 458
\ 220818 8 G1/8 14 14 5 15 47 %5 4 341
220814 8 G1/4 14 18 6.5 175 49 29 5 465
! 221014 10 G1/4 16 18 6.5 175 54 29 5 55.2
221038 10 G3/8 16 2 7 195 58 25 6 724
0 221238 12 G3/8 19 2 7 195 59 25 6 79
D3 21212 12 G1/2 19 27 8.5 24 63 395 8 124.7
Lateral Swivelling Tee Fitting, taper
13 i) ERGe D1 D2 D3 L1 L2 L3 La CH g &0
e—
230418 4 R1/8 9 145 75 195 195 395 13 22
‘ 230414 4 R1/4 9 155 n 24 195 435 14 255
230618 6 R1/8 12 145 75 20 2 42 13 275
— 230614 6 R1/4 12 155 1 24 2 46 14 31
- gl 8 230818 8 R1/8 14 145 75 20 25 425 13 31
— 230814 8 R1/4 14 155 1 24 25 465 14 35
JT% 231014 10 R1/4 16 20 1 25 26 525 18 50
B N 231038 10 R3/8 16 20 ns 2 26 53 18 51
= =3 231238 12 R3/8 19 25 15 305 285 59 20 75
i 3 ,J'ff;;; 231212 12 R1/2 19 245 14 335 285 B2 22 835
D3
Lateral Swivelling Tee Fitting, parallel
L3 i) ERDe D1 D2 D3 L1 L2 L3 L4 CH g &0
240418 4 G1/8 9 145 5 18 195 375 13 205
240414 4 G1/4 9 16 6.5 215 195 # 13 24
240618 6 G1/8 12 145 5 18 2 40 13 26
- 240614 6 G1/4 12 16 6.5 215 2 435 13 295
. §I 8 240818 8 G1/8 14 145 5 18 25 405 13 30
_— 240814 8 G1/4 14 16 6.5 25 25 44 13 335
A‘r% 241014 10 G1/4 16 16 6.5 22 26 48 16 44
241038 10 G3/8 16 20 7 255 26 515 16 49
:r 241238 12 G3/8 19 20 7 26 285 545 20 73
| 241212 12 G1/2 19 25 85 305 285 59 20 77

17




D2

B RESL Reducer
D2
F&L‘ Egil E&ZDe D1 D2 L1 RRAY
‘ ‘ 250304 3 4 7 27 25
2504 06 4 6 9 335 7
2504 08 4 8 9 335 10
250410 4 10 10 315 15
- 250412 4 12 12 325 245
2506 04 6 4 12 355 10
2506 08 6 8 12 35 15
250610 6 10 12 365 16.5
250612 6 12 12 355 222
1 250614 6 14 14 375 25
2508 06 8 6 14 395 135
ol 250810 8 10 14 37 15
250812 8 12 14 39 23
250814 8 14 14 385 315
251012 10 12 16 4 20
251014 10 14 16 42 295
251214 12 14 19 43 24
251416 14 16 24 495 91.8
XiEEEL Union
02 e il E1R10e EZ20e D2 L1 960
F&ﬂ 260303 3 3 7 22 27
| 2604 04 4 4 9 28 6.8
— 26 06 06 6 6 12 335 15
26 06 04 6 4 12 31 14.7
260808 8 8 14 34 18
= |::| 26 08 06 8 6 14 34 21
| 261010 10 10 16 385 225
261008 10 8 16 36.5 252
: I 261212 12 12 19 4 36.6
G620 261414 14 14 2 47 474
2616 16 16 16 24 47 63.2
MA 27
R SRk Bulkhead Union
D2 el ERQe D2 L1 Lsgx CH g 8
2e 270303 3 M10x1 215 8 14 145
270404 4 Mi2x1 28 1 16 235
] 2706 06 6 M14x1 34 16 18 33
BE 270808 8 M16x1 34 17 20 395
- LH/E| u 271010 10 M18x1 39 19 22 51.5
211212 12 M20x1 41 20 24 60
BEAXEEL Union Elbow
u et &Re D2 L1 g &0
280303 3 7 12 45
;: gl 28 04 04 4 9 175 9
L.%_ S 2806 06 6 12 205 165
280808 8 14 225 2
S 281010 10 16 25 295
281212 12 19 26.5 485
281414 14 2 315 58
281616 16 24 36.5 90.6

18



IETH =&E#EEsk Union Tee
E$i ERPe D2 L1 L2 g 42
b 290303 3 7 12 2% 56
290404 4 9 175 35 125
T _[ 29,0606 6 12 20 40 225
, 290808 8 14 21 Iy, 284
J. { 291010 10 16 245 49 39.2
- 291212 12 19 2% 52 61.3
291414 14 2 305 61 771
291616 16 2% 365 73 124
D2
BERERE Simple Screw
M E$id] D1 L1 L2 L3 CH g &2
3100 M5 M5x08 4 16 19 8 25
' 310018 G185 23 27 14 14
] 310014 GI/4 65 265 315 17 27
R i 310038 G¥8 7 30 36 20 a3
3 o $‘ 310012 G2 85 355 M5 2% 80.5
]
D1
NEEEZER Double Screw
CH
ﬁ L] D1 L1 L2 Ls CH g 62
320018 G185 395 425 14 195
O 320014 G4 65 45 50 17 385
320038 G387 515 575 20 635
2L # 320012 6172 85 61 67 26 17
Jan
\J/
D1
RN 1T B R IR Screw, male female
cH D2
- el D1 D2 L1 L2 L3 L4 CH g 42
= 330018 G158 G185 23 35 8 14 195
— 330014 G4 G4 65 25 405 10 17 325
i 1 330038 G38 G387 30 45 1 20 47

19



L1

RANES R RN E R IR Double Screw, male female
o o
— B B3l D2 D2 L1 L2 L3 L4 CH g 60
340018 G1/8 G1/8 5 395 515 8 14 26
—— 340014 G1/4 G1/4 6.5 45 59 10 17 44
340038 G3/8 G3/8 7 515 66.5 i 20 66
I
4 7
D1
BBESEEL AL Single Banjo Ring
E$idl EREQe D1 D2 D3 L1 L2 g 62
12 3504 M5 I M5 9 10 10 185 77
3504 M5 /R 4 7 9 10 10 185 6.6
}; — 350418 4 18 9 14 15 205 135
- I 1| I 3506 M5 6 M5 12 10 10 215 10.9
| 5 3506 M5 /R 6 7 12 10 10 215 10.1
|| B 350618 6 18 12 14 15 25 155
3506 14 6 14 12 18 17 2% 216
LDL 350818 8 18 14 14 15 235 16.7
D8 3508 14 8 14 14 18 17 245 28
350838 8 38 14 2 20 265 327
351014 10 14 16 18 17 27 272
351038 10 38 16 2 20 2 395
351238 12 38 19 2 20 295 388
351212 12 12 19 27 % 315 56.9
m /R={ AT REIFTI 2% - For flow controls only
FBSREEL A Double Banjo Ring
il ERDe D1 D2 D3 L1 L2 g 62
L2 36 04 M5 4 M5 9 10 10 37 10.9
360418 4 1/8 9 14 15 41 18
1- /‘ — 360618 6 18 12 14 15 45 23
gu \* &’J a8 3606 14 6 1/4 12 18 17 48 287
J— | V — 360818 8 18 14 14 15 47 253
3608 14 8 1/4 14 18 17 49 29.7
g; 3608 38 8 3/8 14 22 20 53 425
361014 10 1/4 16 18 17 54 379
361038 10 38 16 2 20 58 445
361238 12 3/8 19 2 20 59 513
361212 12 12 19 27 24 63 67.2
Y Bk Y Fitting
L2 i P P,
o E$id] BER10e ER20e D2 L1 L2 g &2
| e
= : 3704 04 4 4 9 295 95 135
370606 6 6 12 36 125 32
3706 04 6 4 12 36 125 36.1
_ 370808 8 8 14 375 145 425
= 370806 8 6 14 375 145 51.1
371010 10 10 16 445 16.5 62.7
371008 10 8 16 44 165 749
371212 12 12 19 49 195 95.8
[ [
Delq
Lo

20



R REEREL Stem Adaptor
1)
02 B3] D1 D2 L1 L2 CH g 60
3804 M5 M5x08 4 26 9 32
380418 G1/8 4 5 28 13 7.2
380414 G1/4 4 6.5 295 16 124
38 06 M5 M5x0.8 6 4 28 9 59
o ‘ 380618 GI/8 6 5 30 13 85
T 3806 14 G1/4 6 6.5 325 16 13.7
~ 380818 G1/8 8 5 31 13 94
- 380814 G1/4 8 6.5 335 16 145
381014 G1/4 10 6.5 345 16 155
01 381038 G3/8 10 7 35 20 22
381238 G3/8 12 7 38 20 236
381212 G1/2 12 85 395 25 38
BESLIE AT Extention Piece
EFii| D1 L1 g &2
n o 390004 4 35 28
3900 06 6 40 55
3900 08 ] 42 75
390010 10 50 1
390012 12 53 14
- 390014 14 54 185
L Plug
3l D1 L1 g 42
4000 03 3 20 1
4000 04 4 25 2.25
40 00 06 6 25 37
4000 08 8 30 7.2
4000 10 10 35 18
4000 12 12 40 182
400014 14 40 262
400016 16 40 325
MR EEEEL Swivelling Fitting with Two Banjo Rings
cH = el EfQe D1 D2 D3 L1 L2 Ls La Ls CH RRAY
4104 M5 4 M5x0.8 9 10 4 1 185 29 10 3 18
I 410418 4 G1/8 9 14 5 15 205 405 15 4 40
- \_ 1 410618 6 G1/8 12 14 5 15 225 405 15 4 46
o 410614 6 G1/4 12 18 6.5 175 24 146 17 5 69.5
= /— - 410818 8 G1/8 14 14 5 15 235 405 15 4 50
- - 2 410814 8 G1/4 14 18 6.5 175 245 4 17 5 69.5
I
. ML

21



NEmBREREL Swivelling Fitting with Two Double Banjo Rings
L3
CH | £l ERJe D1 D2 D3 L1 L2 L3 L4 Ls CH g42
y . 4204 M5 4 M5x08 9 10 4 1 37 29 10 3 25
A . a 420418 4 G1/8 9 14 5 15 1 05 15 4 50
I I 420618 6 G1/8 12 14 5 15 45 405 15 4 59
A= 420614 6 G1/4 12 18 6.5 175 48 4 17 5 82
= 1 1| — 420818 8 G1/8 14 14 5 15 47 05 15 4 61
/ ‘ 1 g 420814 8 G1/4 14 18 6.5 175 49 46 17 5 835
o 0 | L
I
D1
D3
HTEREEAREL Plug-in Elbow
L2 S ER0e D1 D2 L1 L2 g 482
4304 04 4 4 9 255 195 14
o] - 4304 06 4 6 9 295 195 15
- ;.’Q[ = 43 06 04 6 4 12 255 22 17
|| . 43 06 06 6 6 12 295 2 17
4306 08 6 8 12 295 22 175
4308 06 8 6 14 295 225 205
430808 8 8 14 295 225 205
431010 10 10 16 335 26 30
HREEETHEE:L Plug-in Tee
L2
il ERDe D1 D2 L1 L2 g &0
o) — 140404 2 1 9 %55 39 185
# o 44,04 06 4 6 9 295 39 195
|| I 44,06 06 6 6 12 295 44 245
4406 08 6 8 12 295 44 245
440808 8 8 14 295 45 29
440810 8 10 14 335 45 385
441010 10 10 16 335 52 41
TREEETHEE:L Plug-in Run Tee
L2
: : il ERDe D1 D2 L1 L2 Ls g &0
4504 04 4 4 9 255 195 45 185
4504 06 4 6 9 295 195 49 2
i 4506 06 6 6 12 295 2 515 25
éﬂ o 4506 08 6 8 12 295 2 515 255
Hi— 4508 08 8 8 14 295 225 52 30
451010 10 10 16 335 % 595 41

22



A [ H R L

D1

@Tubol

. 'd
N

A4 Y L sk

L2

Swivelling Cross Fitting
D2
BTuboZ e ER10e EE20e D1 D2 L1t L2 Ls g 42
46 04 04 4 4 9 9 18 39 39 31
46 04 06 4 6 9 12 18 39 44 36
‘ 46 06 06 6 6 12 12 18 44 44 4
\m 46 06 08 6 8 12 14 18 44 45 465
j 46 08 08 8 8 14 14 18 45 45 50
L1
Swivelling Y Fitting
. 3] E1210e E1Z20e D1 D2 L1 Lo Ls 962
Det
470404 4 4 9 9 18 39 195 27
I I 47 04 06 4 6 9 12 18 39 22 295
4706 06 6 6 12 12 18 44 22 345
470608 6 8 12 14 18 44 225 375
470808 8 8 14 14 18 45 25 8

23



EAREL

M1OE ALK REMIRIT , EBE—MBEAEGERMNERTER , BNERETREEMN R,

Press-in Cartridge

The new construction features of the cartridge MA10 allow for one single cartridge version to be assembled in plastic, aluminium as well as brass bodies.

D1

De E3idl ERTe D1 L1 g 42
J,i- 1004 00 4 9 145 36
‘ 1006 00 6 15 165 5.7
= 1008 00 8 135 17 79
1010 00 10 155 185 103
HATHE Cartridge Seat Drilling Plan
E3idl D1 D2 D3 D4 L1 L2
4 95 92 3 8.6 12 32
6 17 1.4 5 108 14 4
8 139 136 7 13 145 4
10 16 15.7 9 15.1 16 4
D1+005
D2 +0,03 300 % g
|
| HATE ZHIR
- Drilling Tool | | Assembly Tool
3“-: og —o o}
o
=
E—J
D3
D4 10,05 i T
~__“
1 2

1IRREHA U AN AL A AR M TEA A

2FY[EIREANEANL  BHREABAIERTER , EERE , XERE
RTYEBRRE

TREEREMAEANZRIA

1. Drill the cartridge Seat, following the instructions given

2. Manually press the cartridge into the Seat and by means of the Assembly tool push it all the

way down until it bottoms ; this will guarantee the proper cartridge assembly.

“Drilling and Assembly Tool “available upon request.

24





